(20

Determine the power dissipated by the 1 Q resistor in the circuit of Fig. 10.73 (21 . Verify your solution with an

appropriate LTspice simulation.

1 £ 56

o

5580

5 cos 208 A C,TN) 15 mF 25 mF
,gi,sT T.‘L‘;

o %0°

110 cos 20t V

[l FIGURE 1073

g\| Souree \’Msx'-‘fm\-m'\

\( 'bh'”\ | r—J;ll—— ] Y
B o=

J

(3

(s\ )

I\ .
- \'1
emft Y 2,3 0617

H—;-;W\/i;’_\’é s B

Teee—

0
L

e

Je = (\ss’%-‘w ~ 404 )*’“\ = 4yas & - b
,_———”’T'——————__\
184 -35%
2
2 4 - v
IR




V(n1,n2)*I(R2)

& Waveform: Vin1,n2)*I(R2) X
Interval Start: | Os |
Interval End: | 31dms |

Average: | H1.5965W |
Integral: | 3.7581J |

SINE(O 5 {20/6.28} 0 0 0) SINE(O 110 {20/6.28} 0 0 0)
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